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5.16 a) Explain why the rules for saries and parallel resistors cannot e used for
the circuit shown in Figure P5.16.
b) Use the node-equation method 1o find the voltages of nodes 4 and 8 with
respect (o the ground node.
¢} Find the currents i, and i; and the equivalent resistance connected across

the source.
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8.34 Find the transfer function for the circuit shown in Figure 8,12 by characterizing
E the passive elerments by their impedances. -
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8.39 a) Use impedances and the results of Example 8.16 1o find the ranster tuncoon
for the op-amp circuit shown in Figure P§.39,
b Plol the pole-zera pattern.
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